Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.8.dwg

203 Humble Ave.

STEVES

San Antonio, TX 78225

STEVES AND SONS

DIRECT GLAZED FIBERGLASS DOOR

SINGLE
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debris protection this product is required to be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Sidelite Panel Details 10 Vertical Cross Sections
4 Door Panel Options 11 Buck Anchoring
5 Elevations 12 Frame Anchoring & Hardware Details
6 Horizontal Cross Sections 13 Bill of Materials & Components
7 Horizontal & Vertical Cross Sections (2X Buck)

3/4 LITE 4 LITE

REGENCY BROOK 3/4 LITE

68.5" MAX.
OVERALL FRAME
WIDTH
L Ia J A7 /
g z
<3 <& i
oZ 93 A/
< %8 e
I < °
6 3% ,
hE b / 207 1Y
5% S5
s 73
- O X 0
CONTINUOUS HEAD & SILL

| DESIGN PRESSURE (PSF)

ISITIVE | NEGATIVE ST GATIVI
X 37.5"x81.5" | +65.0 -65.0 +65.0 -65.0
XO, OX, 0OXO | 68.5"x81.5" | +45.0 -45.0 +45.0 -45.0

June 7, 2022

FL 33595

BUILDING CONSULTANTS, INC.
813.659.9197

P.0. Box 230, Valrico,

Phone No.:

w

Lyndon F. Schmidt
P.E. No. 43409

R

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN

PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ| DATE

DATE: 3/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41467.8

SHEET _] oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



\
24" - 1.2" 24" O A%
. N Yo
~ A . -
™ &Y - 0
bb . \ N\ 7 [ - N i ; - %3’ Q-: 2\:% L]
i A LR el L COMPOSITE * SOl ESz2es,,
= NI~ I SR * ¥ R CAP 9.3 LOSL so5
Kbﬁ L ;‘b../ / \ \,.é "_ a 4 _~ 6//} N LLTOR P 5 g\\\\ l.s“ § :?5 g
I "/, > 4 W 2o
—_—— - ] \ (oM
INTERIOR LOCKBLOCK ~ LATCHSTLE  COMPOSITE ? N Mgy SR.3%
composite  HINGESTILE TOP RAIL ~ a
(LvL) 19.75" LONG (tv) CAP x5 0 x2 8
CAP i (LVL) 1 BE, Z8,°
. o
/1" HORIZONTAL CROSS SECTION SN 25c 2 5w
v . ol 0o 2 -.Lm
W o T alt ¢ mDoaow
’v. L 8 o u
UL ol
FIBERGLASS SKIN —JFF "+, 21z 2.
v e
v #
GLASS BITE —
. 35.75" MAX. DOOR EXTERIOR — I"O.A.THICK GLASS S 28 a
WIDTH SINGLE LITE (4X) SRR, 53 2
9-5/8" X 22-5/8' D.L.O. N\ 1/8" TEMPERED GLASS RIS . b
21" MAX. DLLO w/ FALSE MUNTINS L - DECORATIVE INSERT .| @13 8°
.D.LO. . (BROOK) "= |3 8.
WIDTH GLAZING <fj"i- - Qs = °Z
> COMPOUND 1 e - AR SPACE Hulg &
=l N 5/32" TEMPERED GLASS gl E |
>
7 7 = INTERIOR 3 S 5
/ //// A SWIGGLE SPACER EXTERIOR INTERIOR x =z
" #
m o T @ GLAZING DETAIL >
AV =
— 2 in @/'
5 =% T |G =l | TR (1w
2 %0 J J o N Bl
o 4 / ; N T ar
D - . ’-. . —
- / / o P . \é: 2
< 7o/ § 1 2|
ES = \
N g . :‘“. ”
SEE HARDWARE TABLE ~ N
(LATCH & DEADBOLT) i L
X I M FOAMCORE — [ . > &
SEE HARDWARE TABLE || cwiksgr | ATCH: SIGNATURE SERIES (POLYURETHANE) ST n =
(MULTIPOINT LOCK] DEADBOLT:  SIGNATURE SERIES (980) - a8
LATICH: E51 BOTTOM RAIL ——12= OC(; O
SCHLAGE | o it BAON REINFOFVEEMENT S
2 LATCH PREMIUM HANDLESET Wy e 3/10/22
* - | SCALE: e,
ROCKWELL | DEADBOLT:  PREMIUM DEADBOLT BOTTOM RAIL— L — N TR?N
@HBERGLASS DOOR PANEL PREMIUM MULTIPOINT HANDLESET (COMP.) ok & LFS
ROCKWELL w/ DEADLOCKING TONGUE ,
O o /"2 "\ VERTICAL CROSS SECTION N 78
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. \2/ :
CORE MATERIAL: POLYURETHANE FOAM SHEET _2 oF 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.8.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.8.dwg

1.2

0.5" ﬁ —

1.7

13.875" PANEL

WIDTH
7.125'D.LO.
WIDTH
Y
S /
e N
U1 ANEIZ 4
T =T
Q &
[TE I -
I
]
Z ,
& VA
o~ /
[

O

&

COMPOSITE
CAP

m HORIZONTAL CROSS SECTION

STILE
(LVL)

PRy
S
X

3/

SINGLE LITE (2X)

w/ FALSE MUNTINS

@ FIBERGLASS SIDELITE PANEL

FIBERGLASS SKIN: 0.08" MIN. THK.
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.)

P 7-1/8"X 22-5/8" D.L.O.

EXTERIOR

INTERIOR

]/2u e
GLASS BITE
EXTERIOR —— 1"O.A. THICK GLASS
/8" TEMPERED GLASS
> DECORATIVE INSERT (BROOK
GLAZING <. - (BROOK}
COMPOUND Q:NR SPACE
5/32" TEMPERED GLASS
INTERIOR

SWIGGLE SPACER

() GLAZING DETAIL

COMPOSITE

CAP o
| &
A\ Y
A \ VA
/ "q.v A
FIBERGLASS SKIN u u
EXTERIOR INTERIOR
[
FOAM CORE
A
BOTTOM RAIL .
() ~—_|C N b
'— O
, i
COMPOSITE — |}

CAP

/" 2"\ VERTICAL CROSS SECTION

NEY

My,
/" \JCENSS®

W
€

]
(0]
y]
L]
gr")
—Jf\
om
2 sown
Z0g0
<c2
o= .
5389
D go.f-’
P E
oo
v B 0 xzg2
e fo me
2 £5 8 cuw
£ Q% 5024
go. <+ oo
o3 .
~JE [*]
<
is o,
818 cu
= SO
i
58| 2
ha L*EE
.o :l
-2 |7 B
(7)) )
Wy |5 oY
GE |4 F
., 0@ |<
- (PR PV
[&]
3 o
S E
& &
>_
m
)
=
O
%2,
ol
4
g
z
in
wl 1%
=RE
o
(o] 3
n
T Z
ol |o
> 1o
jul
ATE: 3/10/22 |2
[a]
SCALE:  N.T.S. E
DWG. B:: RW o
CHK. BY:  LFS 2
DRAWING NO.: ﬁ
FL—41467.8 g
N
SHEET _3 oF 13 |g




TON BANVATINSNGT aNIighing

‘MY Z2zaz2

€186 ‘ON Ansibey 3484 SNOISIAZS
L6L6°6S9°CLE "ON euoyd 8 31vd [ON 0 | M
c6Eee i “eolBA ‘OcE XOE Ord \§ SNOLLJO FINVd ¥00d NP EES 2|
o ..~m.rz<h5mzoo oNIaTINg \&w KT@N3SSY 90 Lavd W_M E1=, 88
///ﬂ?@ J(ZOsm.\\\\\ BOYSY "ON “I'd 4000 SSVI0e3d1d B TR _
2 ...caﬁmﬁ...@&‘\\v IPILIYDS "4 UOPUAT SNOS % S3A3LS uldlg|fE i
I/& ‘ "o WA~ :4g peipdesd syuswnooq :10NAaodd 3|3|8|3 m &
; /Pn TT0T ‘L sunf
xi ¥ i3
3 60¥EYON ;3
“\¢ -.o. I U
R
\\\\: WHOS W
TN
1§
-
M
|
W
Q
¢
o
1T
o=
Ly
i
o
madl
I
-3 0] ™
R4
SN e
////: ///ﬁ/ w
~ < o=
~ - ~ // B
M// e
O
o
1 E]
oL

Bmp'g L9y Ly-14\0202) 29vLy-Td\sBumesq - D\S31Y3S ADNIDTY 197 L¥-14\s]eroiddy 1onpoid BPHOLS - YAIUSURULIBG - SUOS pue S3ARIS\SIUBD\Z



TON] SANVAIMSNOD gNIgTINg "M'yd 2202 @

£186 ‘ON Ansibey Idgad SNOISIAGY
LEL6°6G9°CLE TON Buolyd A8 41vd [ON | M
GESES 74 ‘OSUIDA ‘OCZ Xog ‘O°'d § SNOILYATT3 Nulzle] ~ 1_
“ONI ‘SLNVLINSNOD SNIalng @. IaNaSSY 90 Luvd SIEIEF]. €8
Wi, < g3 5~

///6 WNO/g“s,, SobEh ‘ON ‘I'd Y00d SSY1943gld w1 1E|Elg

l//&...aOEO.NU...@ 7,  IPIUYSS "4 UOPUAT SNOS % S3IALLS i w sIcET| B
S oY) 248 _peiodeid swewnoog :10NQ0¥d HEIHEEERE

[SRERENM
d

Q S teuees” . 0\
U, #\SIom W?zz/
Hiprpnw
0| o~
e of() 3
~ If ]
DI T [o])¢8
o VQ
~t| o~
X . z
~ . Clo
<t co - _ <|%
“x oy X _._V._ O
I // mu //.”./ D < ﬂ
|~ i —|o
/ _4
__ I ~ O
0| o~

5 5
7 8
J
3
7
3
S 8
/6 3
T N\E
O
D
(2 4
10 A\ 10

z
>
o % m O
= O <Cj~~
=~ ~ Wm 20
| :
{0
. . < ~f(- 2
//,ﬂ ///// K

ELEVATION
OX/XO
(CENTER HINGED)

NN N0 nv
~t| o~ JOVWI QIIORIIW

o0
< O
o . z
™. T 2
<~ X | a e
/.// . ////,/ e oA
“ X i

SESESP

Bmp'g 9 Ly-14\(0202) 29PLp-TA\sBuIMeIq - D\SIIMIS ADNIDTY £9¥Ly-T4\slenciddy 1NPOId LDl - Y\IUBUBWIR - SUOS PUE SBASIS\SIIBIDNZ



CONE SANVYLTINSNOD 9NIaTing "My 22072 @

MU LR EN N

c186 ‘ON Ansibey IdHd SNOISIATY
LBLB'6G9°CL8 "ON auocyd SNOILI3S  SSOH0 Ag 31vd JONIey @ | ™
SBSEE T4 ‘OOUIPA ‘OEZ Xod "O'd \Su VINOZIHOH NG| N 1_
0_7_:. _.mkzﬁ.,:mzoo oNIaTIng g& XTEN3SSY 90 1avd S=|®IS Qs
//—— -~\\ R g
///JW I’(oZO\Q\\\\\ 80¥SH ‘ON "I'd H004 SSY19434ld y % M ” .A_T 6_
/.//./6 .....A.n.v.iwmuw...@ \\\ IPILLYDS "4 uOopuAT] SNOS # S3INILS il m 61y s
Il&... .... 7% 1Ag pedodeud sjuswinoog +10NA0¥d HELE M W M
T i+ 220 °L 2ung
xi ¥ e
- 60vEh 'ON N =
“ o—o .-c .“lll
%, NG AR A &
/7, 2eug4009 "y
%, \sIOm 3 N

1/

SETE 1

/" 2"\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

INTERIOR
EXTERIOR

SEENOTE 2

m HORIZONTAL CROSS SECTION
\6_/ Outswing shown (Inswing similar)

SEENOTE 1

b4
8
&
g
o
)
o8
w
8
o
@
5
£
i)
o
9
s
Q
o
2
5
<

B
—+=
[o]
-
=
o
xe)
=
E
e
o]
°
oy
o
L
Q
O
0]

5
£
B~
S
® B9
T i
.mX
OB <
o=0
g2
QO
oE 3
w
>= 3
br
>
Ew D
203
o
o 5L
= - O
wm o 2
LYo
5 0=
- N

i
o]
z

Bmp'gL9¥Lt-14\0202) L9PLy-T14\sBuIMeId - D\SIIYAS ADNIDIY L9vLy-Td\s|eroiddy 1onpoid BpLOlS - Y\IUSUBULIS - SUOS pue saABIS\sIualD\Z



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020\\FL-41467.8.dwg

[
>

<
1-1/4" MIN.

oA

ST
V'AA a

< LANNNRRERR AR RN

4
SAARARANRAVIAL G

0.15" C-SINK

(TYP)

INTERIOR

O,

EMB. (TYP.)

NOTES:

1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jamb {6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails

/"1 "\ HORIZONTAL CROSS SECTION

40

7

Shown w/ 2X Buck

Qutswing shown {Inswing similar)

located 1" from ends & 6" 0.c. max.
3. Anchor @ head is not required for single door (X) only.

EXTERIOR
/"2 "\ HORIZONTAL CROSS SECTION
7 / Shownw/ 2X Buck
QOutswing shown {Inswing similar)
SEENOTE 1
INTERIOR
b~
el
EXTERIOR ' “h

/"3 "\ HORIZONTAL CROSS SECTION

SEENOTE 2
(TYP.)

®)

W

7 / Shownw/ 2X Buck
Outswing shown (Inswing similar)

_1-1/4"MIN.
EMB. (TYP.)

1-1/4" MIN.
EMB. (TYP.)

SARREENM
¥ +f

(LM
\\\\ x

EXTERIOR

A\

INTERIOR

m VERTICAL CROSS SECTION

7

Shown w/ 2X Buck

Outswing shown {Inswing similar)

June 7, 2022

I//,
Y
RO 0
-, 2]
;%&’ in
&2 = M
Q‘—J:(J”
3<:-Z—.Jf\
iZ- . lhomn
;030 sowm
.-\ﬁl" Ong
TS Z L0
YOS SfEn .
> Jbwg
8 3>,,52
\) 0
W ZJdwm
o m e
oN - 2
o x2 8
z2 90
—.mw
9 . cw
502k
moow

Lyndon F. Schmidt
P.E. No. 43409

Ry

STEVES & SONS
FIBERGLASS DOOR

PART_OR_ASSEMBLY:
HORIZONTAL & VERTICAL
CROSS SECTIONS (2X BUCK)

PRODUCT:

BY

EXTERIOR

W

INTERIOR

/"5 \ VERTICAL CROSS SECTION

7 / Shownw/ 2X Buck
Outswing shown {Inswing similar)

REVISIONS

NOJ DATE

oATE: 3/10/22

SCAE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41467.8

SHEET _7 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



AW /
\\\\\ vees 43”/
o SEENOTE 3 S T4 e o
N & 2
Sy € aZg "
= o g L=z o
= o (€= Loan
T % 23 LiQ0SE 550
v v - “’.' s a7 05 O
Z e o Q\\ <L %
S 7, D A Es8s
o o ,/® /’/’/, D \\\\\ § > ! Z
\ (o]
e ST AT 2 R
: ;s o © o x2 8
Q7 - o R
S AWV % & 2 g, g 8K
’ o= &8 6% Z256h
. I g ~ E ne 35925
T = &« ¢ Dodw
e - INTERIOR — i & g S
. e =
:uru.?/!m/zizm/'/ — ’s‘ § S‘E g
v . Fo 28
.. . A | EXTERIOR INTERIOR 2o
o () \ 2% £
o m EXTERIOR 28| >%
S~ (4 VERTICAL CROSS SECTION sy |5 92
" 8 /Shownw/1XBuck ns |8 22
1-1/4" MIN. o @ " Outswing shown (Inswing similar) Wy |5 5o
~ = EMB. (TYP.) 1-1/4" MIN. o |b 28
A EMB. {TYP.) . 5% < N
i W
/ 1"\ HORIZONTAL CROSS SECTION / 2"\ HORIZONTAL CROSS SECTION 2 ol T&
8 / Shownw/ TXBuck 8 / Shown w/ TXBuck o) r ©
Qutswing shown {Inswing similar) Outswing shown (Inswing similar) o o
. A\ >
v o IN 18]
SEE NOTE 1 "
— Zao z
INTERIOR o '@ SE S
e N S
\( : Ta )
’x ® %
29 L .
EXTERIOR N EXTERIOR INTERIOR <
(50)  seenor? A W o
TYP. ' zZ
(TP / 5"\ VERTICAL CROSS SECTION o 313/
" 8 / Shownw/ 1XBuck -
NOTES: 1-1/4" MIN. Outswing shown (Inswing similar) scAE:  N.T.S.
1. Sidelite assembly screws located 4" from each EMB. (TYP.) DWG. B:  RW
end plus 4 more equally spaced along jamb (6 total). oK. B LFS
2. Moulding secured w/ 16 GA. X 1" brad nails fg\ ggvsr’jz“(?/'ﬂ‘%ikoss SECTION Yy TT—
located 1" from gnds & 6" 0.C. MOX.. Outswing shown (Inswing similar) FL-41467.8
3. Anchor @ head is not required for single door {X) only. . —
SHEET _8 oF 13

ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467 8.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.,



1-1/4" MIN.
EMB. (TYP.)

/"1 "\ HORIZONTAL CROSS SECTION

SEENOTE 3

1-1/4" MIN.
EMB. (TYP.)

X

m HORIZONTAL CROSS SECTION

EXTERIOR INTERIOR
W
1-1/4° MIN, / 4"\ VERTICAL CROSS SECTION
EMB. (TYP.) 9 /Shown Direct to Masonry

Outswing shown (Inswing similar)

Shown Direct fo Masonry

Outswing shown {Inswing similar]

NOTES:
1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jamb (6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 6" 0.c. max.
3. Anchor @ head is not required for single door (X} only.

Shown Direct o Masonry
Outswing shown {Inswing similar)

June 7, 2022

1-1/4" MIN.
EMB. (TYP.)

SEENOITE 1
-~
‘ EXTERIOR X/
- & A\Y
SEE NOTE 2 .
(YP) A ("5 "\ VERTICAL CROSS SECTION
9 / Shown Direct to Masonry
1-1/4" MIN, Outswing shown {inswing similar)
EMB. (TYP.)
/3 \ HORIZONTAL CROSS SECTION
\9/ Shown Direct to Masonry
Outswing shown {Inswing similar)

P.0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

RECT TO MASONRY)

STEVES & SONS
FIBERGLASS DOOR
PART OR_ASSEMBLY:

PRODUCT:
SECTIONS

HORIZONTAL & VERTICAL CROSS
BY )

REVISIONS

NOJ DATE

paTE: 3/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41467.8

SHEET _ 9 ofF 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.8.dwg

@ 2022 R.W. BuiLping CONSULTANTS INC.



TON| SLNVLINSNGODO anNid™ing "M'e 2202 @

€186 ‘ON Ansibey Iddd SNOISIAZY
LELB'6GO'CLE 'ON suoyd SNOILO3S -
C6SEE 14 ‘OoLIDA ‘0SZ XO8 'O'd \§ SSOMD WIILYIA A8 AV0_[ONI oyl |5 ol 2 )
"ONI ‘SINVLINSNOD ONIaTiNg @. TTaNaseY 80 D4 Y FE L e A
/1, — ¥00d SSY19434l4 NN R R
O, apiaame e SNOS % S3AFLS “lg|B|E2 L m_
® 7. :Ag peipdeld sjuewInoog 10naoNd M M m M W E

INTERIOR

EXTERIOR

('dAL) "gw3
NIW F/ 11

14

EXTERIOR
8

A

INTERIOR

®

('dAL) "aw3

/ 2"\ VERTICAL CROSS SECTION

W Outswing Threshold

P )SEENOTE 1

/"1 "\ VERTICAL CROSS SECTION

W Inswing Threshold

‘NIW.#/1-1

1. Anchor @ sill is not required for single door {X) only.

Note:

EXTERIOR

INTERIOR

A

EXTERIOR

®

\\

INTERIOR

m VERTICAL CROSS SECTION

w Outswing Threshold

(‘dAL) "gw3
NIW /1L

m VERTICAL CROSS SECTION

u(y Inswing Threshold

{*dAL) "aw3
"NIW F/1-1

BMP''L97LE-14\0202) LOPLp-14\sBUIMeIa - \SINIS ADNIOTY £9¥LY-14\s|eaciddy 3onpOid BPLOL - Y\UBUBLLIZG - SUOS PUE SIASIS\SIUSIDNZ



CONT SANVLINSNGD 9NIQINg "My 2202 @

L conia o ouned SNOISIASH .
GESEE T4 ‘OOUIPA ‘0CZ Xog O'd \§ ONIJOHONY XMond A8 dlvd_{ON S A m H~
.0—7___:.-th<._..._sz00 ONIgTINg g« TATENASSY MO Ldvd W T e . % &
///— n\\\ - S ™ | e
///zﬂw.& WNO 7/, 60y ‘ON “I'd 4004 SSv19d38ld RRE gl 1|”
DO oo Ny, IPIUUSS "4 UoPUAT SNOS % SIAILS @ m | olEd | g
I& -* *s -, : €118 T
>~ . o VP A8 podpdeld sjuswinoog $LoNA0dd 5 21515 5
. ] - £
3, ' 720T °L sunf
39 oy RS
3% =
+ . eO¥EPYON ¢ =
“ .r. IO- ,II
- e Fongon Ky ~
7 occo zwaxo-oo) N\
G5 B
\\s 0 l///
TN
(dAL) "XVW
—— TEE 20,91
« :,v.
o 1 t 1 | t
= -
g O
_z .
a m M Q- X
I Q £ O
[ 75 -1
N .ﬁ/ 8 w v
5 « N o
- * 4. L ......-....
B | ] ] ] R
-q... 4.& - 1.......« . N a.v. Y ... - »..- “J.-
-qr o ...c. 4: ; . ..“..-.. v .4.. A -.v;
(dAl) "XVYW
— _xull (dA) 20,91
- :.v
0.
& . . O
e | f f f 1 1 m
m &~ \«I» (24
H * = vnw m
N 2 V% O, <
- NV
N M o o x @)
e of w L
Ry 2= 3 =
L & 4 =<
e f ] ] ] ] N
R T i R
“E
| L {dAL) 'XvW
* ‘ ‘ "D°0.91
* 1 1 1
e < — s
-y Dl. -
o8 "y X*
.... m ....q.v _
Hjn [ ! | LTS E
f.. ...c. .¢ : K pv4 . vsv ‘g.. ...i ..-,”. Z
. . O 3
SE 3
(o}

BMP'g L9 Ly-14\0202) L9vLy-T14\sBUImMeIQ - D\S1YAS ADNIDIY L9vLp-Td\slenosddy 1onpoid BpLO - Y\JUSURULIS - SUOS pue SaAsIS\sIualD\Z



/,
-
-

FRAME CORNERS ATTACHED w/ {3} 7/16"

) % 3.5"X 4" 20 GA. STEEL PLATE ATTACHED TO N /
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2) : : r Q ,,
#7 X 2" DRYWALL SCREWS @ HEAD & SILL (TYP.} MULLION §A8§IL< CC)DNF GtcigéiAg/}i;«L/Egﬂ 1"CROWN X S.\ Q& 3 %’,, 0
. 4" (TYP.) —=— . & / : NEYS Dz 2
g 6 (TVP) —m| = 3= SSy " aZg B
] e 4" (TYP)) = = I i @=2
(TYP.) -0 - SN
- N A : g Sy " on
SR L il SEE HINGE | T il | 2V .;?\\5 g % @
o e . " = = .
1 M oEralL o I & 2, ’ SEEEEE
O O // 1 D \\ 7] [5]
. T ) @ (TYP) = ? Tuw “,, X NN Z0m
2XBUCK or 2XBUCK 3 = 32 LI A 8R.%8
- - B - £ 2 g 2 EE s o0x2%
1X BUCK 1xeuc1< =5 B o 86 PEq Ed..
DIRECT TO DIRECTTO 2y % h 50 X 2 859 25k
- MASONRY —|| — — MASONRY —_ — ¥ N 2 * Q% BoER
JAMBS HEAD & JAMBS - i i i n\ St
(TYP.) (TYP.) *1‘ L ‘ o t g §Z
3 Buj
- -l—t - -t KT o ||| ] o] LERSN
™ gz R Y
. M~ 0
- | ¢E n _| & 55 @
g % 3 } ] 0% oa
FRAME =3 DOOR SILL = SEE LATCH & 223 | =5
(P (vp) B DEADBOLT STRIKE SEEMULTPOINTLOCK | @ 54
- — — = DETAIL STRIKE PLATE DETAIL 3 |3 Sw
L ki C 2 (TYP.) C (TYP.) Lo B <=
o |& 28
HQ 17, <<
X X0, OX (D)outswne  HINGE JAMB/MULLION  STRIKE JAMB/MULLION  STRIKE JAMB/MULLION oo [ ES
MULLION INSWING LATCH & DEADBOLT MULTIPOINT LOCK = ° s
INTEGRAL MULLION ATTACHED TO 4" (TYP.) LT \ £ <
HEAD & SILL w/ (3) #10X 3" FH 4" (TYP) o SIDELITE SILL @
COMPOSITE DECK SCREWS (TYP.) ' ﬁ ‘ (TYP.) ORECTTO \ P @ .
“ il RN ; DIRECT TO MASONRY 2X BUCK @ ul
—ll—T MASONRY e
—\\ ? \3\ Bk 1X BUCK ﬁ@i 1X BUCK e N
A 2X BUCK @ DIRECTTO 0
- 2x BUCK — o T oy— 2X BUCK \ MASONRY \ .
- ® || |®~ e \ %
o 1X BUCK | \® ROCKWELL MULTIPOINT LOCK HARDWARE S
— DIRECT TO | — ol
MASONRY | \ o
HEAD & JAMBS DIRECT TO
(TYP) _ ] HINGE DETAIL MASONRY 20
- — INSWING 1X BUCK e \
ourswinG (D) =
OE DIRECTTO ~ 2XBUCK @ — T 13 W
INSWING o — - g > 3\ MASONRY - 2 g
SIDELITE SILL SO0RSILL -3 1X BUCK d
TYP.
( ) B\' - (TYP.) - — o ||| o] 2X BUCK 2X BUCK (25 "y i =z
L1 LIHT I = HI* s ——pl 12 2XBUCK i@ DATE: 3,/10/22
Ul \@ 1X BUCK \ IX BUCK e - )\® ScAE: N.T.S.
OXO DIRECT TO DRECTTO \ oWe. B:  RW
KWIKSET HARDWARE SCHLAGE HARDWARE DRAWING NO.:
HINGE DETAIL FL-41467.8
FRAME ANCHORING ool HARDWARE DETAILS ooty

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.8.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467 8.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 1XBUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) wOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
] COMPOSITE JAMB COMP
3 COMPOSITE MULLION COMP/LVL
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC
18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2" PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

1.25"

0.75"

4.56"

1.44"

| 213"

COMPOSITE JAMB

WORLDWIDE "4EVER"

5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER
Columbia

W /
o TS 4//”/
| 1 §" —o— \\ & . * / //
: \\ Q .n' ". ” g
05" —=f |=— S S ‘%1’__ o
34 g Jzg"
LVLINSERT = Qi i EiS==an,
065'x27) =B o836 .20
/ - .o o S~ = 0 02 ©
A O FOS 2200
z > 98 53585
(s . N -4 0D©0o
. ,/// ...... \\\ 8 > M Z
ok ’, N 5
ES OonN - 0
=% o9x28
z - U
3 $Ey, Z@,°
- 863 256 &
\ QF %2 Bazk
} Qe
25" g g2 L§
. olE o
g13 Bu
@COMPOSHE MULLION =18 2
28| %0
(@] <
g &g
23l 53
233 =g
H 5 Q 2 LL‘ g
- — : S5l3 58
. 3 LRSS
‘ o 5 i M
: = i 2 ©
0 -
% & z
L ]k
l l -
ial
4.6" {
15 OUTSWING THRESHOLD
Columbia
0
=z
O
n
(4
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the comers may be adjusted to mainiain the min. .
edge distance to mortar joints, 2
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 0
maintain the min. edge distance to mortar joints, additional concrete anchors Ll &
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. Z g
. Concrete anchor table: o 13
HOR | Al MIN. | MIN. CLEARANCE [ MIN. CLE/ 3| |3
s P TO ASQNR =z ]
EMBEDME, e o
- SCALE: a
TAPCON® [™1/4" 1-1/4° 7 F— N'Té?& :
ALT " - B o
siracoNs| 174 1-1/4° I 4 '
CHK. BY: LFS 2
WOOD SCREW INSTALLATION NOTES: DRAWING NO.: N
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-41467.8 |n
wood screws to prevent the splitting of wood. 8
sHEeT 13 ofF 13 o




